Splashlearn

Winter Multiplication

Solve the following word problems.

John bought 5.5 pounds of salt to melt the ice on
his driveway. If each bag of salt costs $3, how
much did he spend?

Emma bought 7 scarves for her friends. Each scarf
costs $4.75. How much did Emma spend in total?

A snowplow clears 3.2 miles of road every hour. If
it works for 8 hours, how many miles of road does
it clear?

Each winter, a tree sheds 2.5 pounds of leaves. If
there are 4 trees in the backyard, how many
pounds of leaves do they shed?

A hot chocolate packet costs $1.25. If Peter buys 6
packets, how much does he spend?

A ski resort sells day passes for $45.5 each. If they
sell 7 passes in a day, how much money do they
make?

Each snowball weighs 0.4 pounds. If a child makes
5 snowballs, what is the total weight of the
snowballs?

A winter coat costs $85.5. If a store sells 3 coats,
how much money does the store make?

9 A snowman is 4.5 feet tall. If there are 3 snowmen,
2= what is their total height?
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